EARAROBEEIERT — 2 N— IBISH —F

20195 7A7H (B) 4m=%16H

Ll C 3k H5%R—#% ‘ (XM&] W ‘ (sl — | 4 (h) 13000 &
[AE4£] 1 7% :160,000 2 7% :56,000 @ 3%&:32,000H  43%&:24,000” 5 3&:16,000 @
B BB BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
P XN = : -1-1- - £
118l10] 7¥RAIN=7 ) 4 i{l(l)i 1.(2_5).0 1-1-1-1 | 39.2 1 :120) 2%% (@50
R:YVZXB—-—3IZ248— B:7I%54% [EH &
- Y FENIEGIN :26. =558 . - KBS (BH)
ol7|7 Sy A — i 6 e 1(266)2 4-5-5-2 | 39.7 2 (4_658) ut:;qB%%
LIV NATA—h— BEA2TT7XIy b NS
. 1Rk Al : 44~ — HhiE= (S
30111 2R 4 5 et 1.(216>.4 4-4-4-3 | 40.1 6 (5_013) s
L:ZARM)—hE>R B:SNYTF— BRT77— LA
sl o | A TT7UT b # 8 | Bik 1:(237).0 220-4 (411 — | 4 :ff; f}l§§§ (=5
R:FFHATFd B:xA~NO0-F HBET7—L4
N HRENF :27. ~7-7- . — 2llE— (B
i Rz w7 | BE S| ) - e | e B
LixAvank—5— B:UTT12H— BFNAS
R AHEE . 33— — NHEE (FH
6 3 Y e RN 44 *551_—0 1(.32/(4.)4 3-3-3-5 |41.3 7 (4_311) b (=)
L:xALI=ZTr—R B:IU—IEAF— [Ed=tie)
— . e KIEHHER : 76— - PWEMEE B (SH)
715| 5| 717> k71 i 4 Pt 1.(238).1 8-7-6-7 | 41.4 8 (4_516) fotitn
LNnN=v774 B:H>F7 HET7—L
P (OS5 FEFRATE] : -6-8- = #lEE (EH)
slalg| ~x7F RKx> 57 4 8 o 1(/33_; 4-6-8-8 | 41.3 5 (5_078) s
R:d—IWRFPY21—Ib BRTFREF— [Ea=Fier]
X - AT _ B - = | =] - |#mEx &
K% 4 94> ea—45I "5 261?) ) (=) m%‘:fﬁl
Qi h—trkwLEY B:TFNTYC AKX FIK
. # 6 | HEE—H - - — | = | = | = |fmER GEm
7|87 >R 56.0 () (—) | B
ZRFAT—IVE BRTYTLA g—L— - I vIN> - T7—LERE
® 1 — @B
1T=7r= 10,2,3,(1,7,9),6,5
2a=5"= 10,2,3,1,7,9, (5,6)
== 10,2,3,1,7,5,6,9
43—+ — 10,7,1,2,3,6,5,9
[ /N
B 10 1204 714K 7-10 140H B 7-8 180 JEE 1-7-10 900F4
B B 10 1004 1-10 520M B & 7-10 200M JEE 10=7=1 2,010/
7 140 1-7 550M B E 10-7 270M
1 310H

ABICOVWTRDTEEERROODE. TR LIV,




